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General Instructions :
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The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each

question is of two marks.
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HET-31 / SECTION-A
WO i T=T ferfam )
Draw the structure of propanone.
Hed | el shi ATl & Feer § S Tk Sel foehed! T&701 Yiad fopan SH 14101 Sl Soei@ whifsg |
Mendel observed a contrasting trait in relation to position of flowers. Mention that trait.
39 g1 1 W fafen e fag stgardt faeE IR s &l 3 3199 Sftaq 1 afae fea |

Name the tree for which Amrita Devi Bishnoi and others sacrificed their lives.

FE AR 1.2 m § W W Il H T T <@ Fhal| HRI <4 Y 3Hh g8 I 1 W 3R
YUR T & TaC 79 o9 ! yepfa fafem

A person cannot see objects beyond 1.2 m distinctly. Giving reason name the defect of vision
and name the nature of corrective lens.

AR HETOT ok foTe G TN 3R g <shv faferdi st gern i)

Compare reuse and recycle, methods for conservation of environment.

foRegl IR STl ot = oY S ST9H 9 qafawer TRe § e fhert |

List any four practices by adopting which will help in the conservation of environment.

&R KMnO, & 5% faerem &1 M taita # sg-seat & Tom W gRa J&T0 &1 90 Hifg | 39
Tt AUl s e gt iR ffHa s % A fafe |

Describe the observation when 5% solution of alkaline KMnO, is added drop wise to warm

ethanol. Write the chemical equation and name of the product formed during the chemical
reaction.

AT H Gifeam &1 BT 91 Thel STe W Y F1 Y& w2 3Icd 1Y w1 AW fafaw) e zg
T 1 Wi form weRR S ? fafea stfufsren w1 vamafrer wdtet fafaw |

Which gas will be envolved you observe when you drop a small piece of sodium into ethanol?
How will you test this gas? Write the chemical equation of the reaction taking place involved.

G (@ HS 3R (b)) F,® scaM foag qET SRAEa wif |
(i)  Fp ¥ TorH YehR T ST/ere G Il 8 2
(i) Draw the electron dot structure of :
(a) H,S (b) F,
(if) Which type of bond is found in F,?
=R T A, B, C, D % seiae fa=am 7 €

X

(a) 3TH 9 &M Y T TH & 98 H W N T 7 O gen fafau
(b) TTHHADRE YT TH @ Ted H W M E? sed g fafa
€ M9 9 ®F I T kT 7 3Haw AW fafaw)

The electronic configuration of four elements A, B, C and D is as given under
A-21
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(a) Which amongst them belong to the same group? Write the group number.
(b) Which amongst them belong to the same period? Write the period number.
() Which element amongst them is inert? Name it.

11 TR YT AIGT Gl Ica=1 B 1 HIRHT STTHF 50 % & | T i |
The statistic probability of getting a male or female child is 50%. Explain.
12 ST &for 1 B & 7 30T ST |

What are acquired characters ? Give example.

13 = <fial g0 2rdfies g o o <wiE 12 fafy =1 ver fafaw)

(a)  oFHIm

(b)  TESH

() R

(d)  wIsHITEIH

() TN

(f) SR

Name the type of asexual reproduction demonstrated by the following organisms :
a) Amoeba

(

(b) Rhizopus

() Planaria

(d) Plasmodium

(e) Spirogyra

) Bryophyllum

14 IS0 & HIGT AT ST T a18a 3TR 9 39 9T o1 ATHISRA ShifsTT St -
()  eiie 3o & AT St €
(b)  Toraferd T S RO B R TR i T80T L © |

Draw the female reproductive part of a flower and label the part that is :

(@) Responsible for production of ovules
(b) Sticky portion that receives the pollen grains during pollination
15 (@ fowm ¥ fHe THR T UREAd w1 FF FE wE h fau wigkd fha S
g7
(b) I FA T R w@ 7 wiefis #1 3qvE Ba1 €, @ [T | R S ST 82 RO Had
RIS |
(©) o i g § T o1cifiteR S o ot St oft sTafiTes waor <o o wam § 2
(@) In evolution, how is one change adopted to perform other functions ?
(b) Is it true that when a new species emerges, the old is eliminated ? State reason.
() Why is it that asexually reproducing organisms are also capable of showing hereditary
features ?
16 e foh 99 A9 1w wiw gl fhw YR uRafda et 1 so@ fepe steren Q@ &t axgai @i
e H fhd yohR werra fierdt §2
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Explain how does an eye lens change its focal length. How does it help in seeing near and
distant objects ?

17 el @ o ferq ot =t werran @ 1= wei w1 wweEd:
SR, YhITh s, TEATE

Explain the terms aperture, optical centre and principal axis of a spherical lens with the help
of diagram.

18 Ufed T g<e & e 9T 9 aed e SEH S SNH & fa 9sig o @ o et
o= USp 1 79 STer-sfraemen g
Ufed = o =41 fepan?
Ufed TS 9 1 3T9eN Tl ©72
IfE STA-Siaeren &l o1 I@9d & Teh 9we & fau | <o S a =& grm?
Ufed STor-Siiasmen i 94 73 & 99 Sied & fau s=g& =i oar?
Rohit will be out of station for a week. He gave his aquarium to Raju, a friend in the
neighbourhood for that duration.
(@) Why did Rohit do that?
(b) What does Rohit expect from Raju ?
(©) What will happen to the aquarium if left for a week unattended ?

(d) Why was Rohit keen on leaving the aquarium with his
friend ?

19 LAY ol i TR fafa |
FB a 59 C, Li, N, O, B 3R Be o THIY] UGS AT 77,152, 74, 66, 88 3R 111 pm |
SToh! IXATY] 5141 < Sed ohH H UH: HAMEd hich fafat |
3 el 1 A fafe S w] 9es swAs: Tad i 3R Tl i ¥
fopelt efard H =T 9 gl 9T W W] e # o1 9ot ufiede ST SR TR it |
Define atomic size of an element.
Atomic radii of some elements like C, Li, N, O, B and Be are 77, 152, 74, 66, 88 and 111 pm
respectively.
Rearrange them in decreasing order of their atomic radii.

Name the elements which have largest and the smallest size respectively.
Give reason for the change in atomic radius as you move from left to right in a period.

20 (@)  Fo diel # we Font e Tt HeRtol gRI 3ca—1 Ureli <Rl o1 fafen
(b) T & U H Hea gRI Aifew forn Tu fordl i faehedt aaril o m fafaw |

(@) State the ratio of plants produced in the monohybrid cross and dihybrid cross in the F»

generation.

(b) Name any three contrasting characters noticed by Mendel in the garden pea plants.
21 reed for fo=m & ufshen o foe f i o=t weergof €

(a) FHer™

(b) 9]

() e

(@ A
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(e) TEE

Give reasons as to why are the below mentioned organs important in the process of fertilization :

(a) Ovaries

(b) Testis

(c) Vas Deferens
(d) Vagina

(e) Uterus

22 3TifeTeR &9 9 UMl H S8l g8 U Ufad Ul o g% W HEl g8 Udld ekl ¢ | $9 T AMifhd SR@ & 5
eI | GHARC | At aT i foRE g sifen geRiier WeH g § wfaenfua foan S ar =
Hifay o Yfae 1 ge1 o S s1eran 1 2 S ?

A pencil partly immersed in water appears to be bent at water surface, explain it with the help
of a labelled diagram. State whether the bending of pencil will increase or decrease if water is
replaced by another liquid which is optically more dense than water, explain.

23 () @9 2 d T aul A9 % qi o Afe qu Frehe S A stk g fowrd g S
39 Tishan ol TRt fontor Eigey Taesmsd |
(i) T fosT | v g TSRAT € vad feRT W A T VIBGYOR U 21 €1 39 |l 1 6
ferare o fier B € 1 Tmemed o T =i Sran §1 <9 T % T fafed S s wed sife @i
o A faferd g €|

(i) You must have observed that a rainbow appears on the sky when sun appears
immediately after the rains. Explain this phenomenon with the help of a diagram.

(ii) When white light passes through a prism, seven colours namely VIBGYOR are seen on
white screen. All these colours have differentangle of deviation. Explain why ? Name the
colours which suffermaximum and minimum deviation respectively.

24 Teh 391 Ul i foral g, fdfers it qen wiend < Aed Geig fafgw)  gdur skl oshdl 5= de1 5
TIHT F T F G T2 Thell 3 m W T & oFaa <dv & g fomy el T =ife @if
SHehT Hfafers 78 9 g9 § 9 m T FfHT =1 |

Write the relation between object distance, image distance, and focus of a convex mirror.
What is the relation between radius of curvature and focus of a mirror. How far an objects
should be placed from the concave mirror of focal length 3 m in order to obtain an image on
the screen 9 m away from the mirror.

HIT-9/ SECTION - B
25 Rt B 7 T e | 59 A faan qon suH difean seeiaee faoas s fbgo = g9 979 1
e feetrn a1 sifufsean o gvaq fferadier den 2149 B 9T« gu |
weTd A T B AR T -
(@ @A, ad (b) i, WEA
() o, HEd (d) el weE
A student took a liquid A in a test tube and added sodium hydroxide solution in it. The
mixture was stirred for some time. Glycerol and solid B are formed after the reaction.
The substances A and B respectively are :
(@) soap, oil (b) sugar, soap
() oil, saop (d) vinegar, soap

Page 5 of 10
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A boy performed saponification reaction in a test tube. He took vegetable oil and 20% NaOH

solution and stirred the mixture. After sometime soap settled at the bottom of test tube as
shown.

IR
K

The substance ‘X’could be :

(@) Glycerol (b) Glycol
() Oil (d) Sodium hydroxide
27 FSR I H IS 41d T7 1

(@) WA T S o T ST H S S
(b) WIS AN S

()  HEA 3 gl T I |

d) A s faeEE @ R

While washing clothes in hard water,

(@) a small amount of soap is used.
(b) soap forms lather.
(o) soap forms a solid mass called scum.
(d) soap gives a clear solution.
28 fordlt B 1 forelt e e o1 ST Xk STaad U1 ! Wik G0 I i I FART ®EA 51 1
TR ¥ sTrsdsuereHR:

(A) T UG, TH YU BeeT 9 Th Thed, TaI Bleel
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(B) T UV TIoey, Tk TR Bleed a1 Th Thal
(C) T Ui Bleed a1 Teh Thal
(D) Tk YU Eleet 791 T Uei Blest
Sl H2 19 3H Hellad IR 2 FehdT 8, 98 We 9 B |
(a) A (b) B (©) C d D
A student has to do experiment to find the focal length of a concave mirror by using a distant
object. The following four set-ups are available to him :
(A) a screen, a mirror holder and a scale, screen holder
(B) a mirror holder, a screen holder and a scale,
(C)  ascreen holder and a scale
(D)  amirror holder and a screen holder
The set-up that is likely to give him the best result, is the set-up labeled as.
(a) A (b) B (0 C (d D
29 o o T U SR Rt gree foa § 9 fRl 3o of g T SAfad o 96 W) T idfee 1
g fohan 1 fou U iR Y2ty § 39 o st ey gl B

|IIII|III||ll|l|||IIIII|||IIlllllllllllmlllllllll
3 4 5 6 7 8

0 1 2 9 10 (cm)
(@) 119 (b) 8L
()  3HEHL d) 509

Parallel rays from a distant object are incident on a convex lens to form an image on the screen
as shown in the figure. The focal length of the convex lens in the given experimental setup is

|III||III||IIII|I|IIIII|||Illlllllllllllrr-l‘llwlllll
0 1 2 3 4 5 6 7 8 9 10 (cm)

(@) 11 cm (b) 8 cm
(c) 3cm (d) 5.0cm
30 e BT 7 W= 1 IfCZRT BT TAM HA L STIAA S0 & fafq= 7F o T2 709 qreaishi & @2 1
1 STeRA fohar| e | 9 fore IresrieRl o6 92 T § 2
(a) Zi=35°, £r=22° Ze=40° (b) Zi=40°, Lr=42°, Ze = 40°
(c) Zi=45°, /r=26° Ze=45° (d) Zi=50° £r=50° Ze =50°
A student while performing a glass slab experiment observed the following set of readings for
different values of angle of incidence. Which set of readings out of the following is the correct one :
(a) Zi=35° £r=22° Ze=40° (b) ZLi=40°, Lr=42°, Ze = 40°

Page 7 of 10



()  Zi=45°, /r=26° Le=45° (d)  /i=50° /r=50° Le=50°
31 H & fRE TSR o= § g 6t foRgor <61 997 SR 31 & w9 | fhdt s 5 W@ wa 1
g frefa ferton wieft Y § it 61 1 W E 1 3HeR1 Siferd SROT 81 ekl @ ¢
1) 35 foaem ot g sifera T &t g
) AR F g fuew oot e feafa | foavenfua &1 mn 7
() ¥ IRfEd wE & fod ygeEa fim Seafer 71 9
(4) 9 3RfEd wE F ford vgea fum e e o = €

& ST :
(@) o (1) (b)  FEA(Q)
©  (@)Tar4) d @), @2), )74

While doing experiment to trace the path of a ray of light through a triangular glass prism a
student is not getting emergent ray in straight line. The probable reason for that may be :
(1) he did not mark the boundary of prism.

(2) while performing experiment prism got displaced from its original position.
3) pins used to trace the path were not exactly vertical.
4) pins used to trace the path were not in straight line.
The correct answer is :-
(@) (1) only. (b) (2) only
© Band(®) (d) (1) (2),(3)and 4)
32 X & % BEI &I fouwel & 3R TS & UI€ & T fe@m T 37 BEl g/ Sfad frewd g 1
=fex :

@) 9% ThE IR e e
(b) ¥ HHEY AT T
© & safre 3§
(d) TS THE PIA AT |

The students of class X were shown the specimens of limbs of lizard and bat. The appropriate
conclusion that the students will draw :

(@) they have different functions and different structure.
(b) these are analogous organs.
(c) these are vestigial organs.
(d) they have originated from common ancestors.
33 Hod fad Seian © 1
(@)  fgsfisish sitst (b)  TeRSSHUS st
(€  ®d (d =

The adjoining diagram shows structure of a :
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(@) Dicot seed (b) Monocot seed

() Fruit (d) Flower
34 UHifesh o7 < Uredl o Hed H WY [ H fou v fawai =61 faem @ 11 9 shifse 2
I 11
Ak 1. | faws st
2. | Ty 2. | co,ira Icafsia g8
3. | NaHCO:H &fufshan 3. | FarTeiat
4. | H,O ¥ foretare 4. | TEHA
5. | dte
6. | ferera
7. | el S Ty
8. | 1,7 scafsa g8

Match the contents given in column I with the column II appropriately in respect of properties
of Acetic acid :

I II
1. | Colour 1. | Like vinegar
2. | Odour 2. | CO, gas evolves
3. | Reactions with NaHCO; | 3. | Miscible
4. | Miscibility in HoO 4. | Colourless
5. | Blue
6. | Immiscible
7. | Fruity smell
8. | Ha gas evolves
35 ()  3rien % fg@ie | 8 el 3 ger staeensti & T4 fafed | 2
(b)  wafa diee Fiferert o fmior & wveTd = e ?
(@) Name the two major stages occurring in binary fission in Amoeba.
(b) What happens to the daughter yeast cell after its formation ?
36 forelt foiar o fre o1qot foror s =1 <l oo SO <9 9 oTqad o weang ufdfdd A' B a8l 2
N
oF, F \/ F, l 2F,
BI
S AT o YR W R v 9

Page 9 of 10



(@) T AB =} stafeafa grft :
(b)  fo@ 1 TRR wfafdd & TRR 9 BT |

Observe the following incomplete ray diagram of an object where the image
A' B'is formed after refraction of a convex lens.

A
oF, F v F, l 2F,

B!
On the basis of above information fill in the blanks :

(@) The position of object AB would have been .
(b) Size of the object would have been than the size of image.

-0000000-
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